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Cluster: 0152 ptr; resid: 0.19; r/c: 17/77

x.range

upstream meme PSSM #1; e=3.6e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=5.1e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11
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1491747067

50034

24739

13581

27166

31994

33016

4025

44459

44833

46012

47056

48338

48410

8270 string −500 −400 −300 −200 −100 −1
47056−0.06

48338−0.23

14917−0.53

4025−0.63

48410−2.88

13581−3.47

46012−3.61

27166−3.64

24739−3.73

44459−4.07

8270−4.29

33016−5.61

50034−5.86

11126−6.84

44833−7.40

31994−8.26

47067−11.84

log10(P) upstream meme1 2 log10(P.clust)=−4.29; 17 seqs; 17 uniq
c(0.5, 2.5)
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